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1 100kN/mM#%#8Z % — -~ - —|3mZEBzE| — ~ - — —| 100kN/mZ#8 25 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00| 000 ~ 425 5307 | #hblis | 000 ~ 425| 2.00 10.73 Thust 1.00| 500 ~ 500 53.07 | #hilst | 500 ~ 5.00] 2.00 10.73
2 100kN/mM%#B 2% 1.00] 000 ~ 0.12 101.78 |3m%#BZ % _-~ — — —| 100kN/m%#Bx% | 1.00|1058 ~ 10.89 101.78 |3m%*#BZ % -~ — — —
Zh st 1.00]0.12 ~ 791 100.00 | Z1List | 000 ~ 7.91] 2.24 11.97 K10 1.00 | 5.00 ~ 10.58 100.00 | ZhList | 500 ~ 1089 | 2.24 11.97
3 100kN/mM#%#8Z % — -~ - —|3mZEBzE| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00| 000 ~ 461 5743 | #hbLis | 000 ~ 461 | 1.87 10.03 Thust 1.00| 500 ~ 500 5743 | #hilst | 500 ~ 500]| 1.87 10.03
100kN/mM##B % % ~ ImEHEZD ~ 100kN/mM%i#BZ % ~ ImEHBZD ~
Zh st ~ Zh s ~ Zh st ~ Zhn s ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZThilst ~ Zh st ~ Zh Lot ~ ZThst ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ Zhn s ~ Zh st ~ Zh st ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZThilst ~ Zh st ~ Zh Lot ~ ZThst ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ Zhn s ~ Zh st ~ Zh st ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ ZhLst ~ Thilst ~ Thist ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zhst ~ Zh s ~ Zhn Lot ~ Zh LS ~
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